buptiwunnignid

Zudwnhs

Zwjlnwupwip

1. @nudwpbp hnunnpuljubkpp:

120+ 42 120+42 162 81
160 160 160 160 80

13 3 13-1+3-5 28 7
20727 20 ~20 5
2 4 2.5+4-3 22
375 15 15
i+l=5-3+7-4=£
16 12 48 48

2. Yuunwpkp §nnunpuljutph hwiunud:
330 142 330-—142 188 47

180 180 180 180 45
13 3 13-1-3-3 4
15 5 15 15
15 3 15-7-3-11 72
1 7 77 ~ 77
13 3 13-4-3-5 37
10 8 40 40

3. Guunwuptp puquuuyunlnid.



15 15 30 10

18 9 9 3

4. Fhyp ubkpuyugpbp Gpynt unynpuljutt Ynunnpuljutph

wpunwnpuih wnkupny.
32 8 4
28 4 7

5. Yuunwpkp pudwtinid:
24 4 247 6 42 21

1077104 10 "10 5
10 3
200—=20-—=2-3 =6
3 10
27 _27 1 1 1

B 13 13713

6. Uunnuihph  tnfuwpkt  h'by  phy  qplym
Junnwugyh hwjwuwpnipjnii:

8 12

—_— = —

25 7

12 8 12 25 3 25 75

725 7 8 7 2 14
25 8

X (— = —
36 11

25 8 25 2 50
36 11 9 11 99
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